K E)/ Chemistry I (1) Review Chapter 9

Name:
Ideal Stoichiometry ( No limiting reactants) & Percent Yield

1. The unbalanced chemical equation for the formation of water is:
L W+ 0,5 4 HO

a. If 3.3 mol O, are used, how many liters of H, are W 2
3. 3mol B3| 15 | d2YLH; :@7.5'{1_ —> /30LHpr 1SXN L /-E]

' 10g T 1 matHs
b. How many /ams 0, 11;13t reazt wjh excess H, to form 6.72 grams H,0?
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2. Aluminum reacts with oxygen to form alumim;ry oxide.

a.xWrite the complete balanced equatjes
+40y — 4 /,z 0
b. How many moles of O, are nieeded 1o Teact with 1.44 mol of aluminum?
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d. How many grams of aluminum oxide can be formed by the reaction of 38.8 L of ~ - )
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3. Calcium carbide, CaC,, reacts with water to orm acetylene.
CaC;+ o2 H,0> CH,+__* . Ca(OH),

a. How many grams of water are needed to react with 485 g of calcium carbide?
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c. If 55.3 g Ca(OH), are formed, how many grams of water reacted2—
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4. T£156 g of sodium rtle Qezagt, {Vhat 15 the thooretical i o sodivm mimies
NaNO; > 2 NaNO, + 0,
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5. Ifthe actual yield of*Sodium nitrite from problem number 5 is 112 g, what is the
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6. caC+ £ H0-> CH, + Ca(OH),
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64 g CaC, is reacted with 64 g H,0, -
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7. In the reaction shown below, 28 g of mtrogen are reacted w1th 28 gpf hydrogpn )

N+ 3 Hze_g_NH
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How much gxcess reactant remains?
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-The difference between the 11m1t1ng reactant and the excess reactant? Why is it m1portant to
know which is which for.a reaction?

" -The difference between the theoretical yield and actual yleld? Is the TY usually to the AY?
' Why or'why not? If not how do they usually compare?
-Where do mole ratios come from? What do we use them for?




